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Question Number : 1 Question Id : 4165298786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Expression for time interms of G (universal
gravitational constant), h (Planck constant)
and c (speed of light) is proportional to :
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In a car race on straight road, car A takes a
time t less thancar B at the finish and passes
finishing point with a speed ‘0" more than
that of car B. Both the cars start from rest
and travel with constant acceleration
a; and a, respectively. Then ‘0" is equal
to:
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The position co-ordinates of a particle
moving in a 3-D coordinate system is given
by x=a coswt
y=a sinwt
and z=awt
The speed of the particle is:

Options:
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A mass of 10 kg is suspended vertically by
a rope from the roof. When a horizontal
force is applied on the rope at some point,
the rope deviated at an angle of 45° at the
roof point. If the suspended mass is at
equilibrium, the magnitude of the force
applied is (g =10 ms ~2)

Options:

100 N
41652934614.

200N
41652934615,
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A force acts on a 2 kg object so that its
position is given as a function of time as
x=3t2+5. What is the work done by this
force in first 5 seconds ?
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A rod of length 50 cm is pivoted at one end.
It is raised such that if makes an angle of
30° from the horizontal as shown and
released fromrest. Its angular speed when
it passes through the horizontal (inrads )
will be (2=10 ms ™~

30°
®

Options:
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A rod of mass ‘M’ and length ‘2L’ is
suspended at its middle by a wire. It
exhibits torsional oscillations; If two
masses each of ‘m” are attached at distance
‘L/2" from its centre on both sides, it
reduces the oscillation frequency by 20%.
The value of ratio m/M is close to :
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41652934626. 017
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The energy required to take a satellite to a

height ‘h’" above Earth surface (radius of

Earth=6.4 X 10° km) is E, and kinetic

energy required for the satellite to be in a

circular orbit at this height is E,. The value

of h for which E, and E, are equal, is :
Options:

4
41652934630, 128X 107 km

3
41652934631, 04 %107 km

41652934632 1:6%10°km

41652934633, 32 % 10° km
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The top of a water tank is open to air and
its water lavel is maintained. [tis giving out
0.74 m> water per minute through acircular
opening of 2 cm radius in its wall. The
depth of the centre of the opening from the
level of water in the tank is close to :
Options:

41652934634, +8Mm

41652934635, 26 M

41652934636, 29 M

41652934637, 00 m
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Two Camot engines A and B are operated
in series. The first one, A, receives heat at
T,(=600 K) and rejects to a reservoir at
temperature T,. The second engine B
receives heat rejected by the first engine
and, in turn, rejects to a heat reservoir at
T,(=400K). Calculate the temperature T,
if the work outputs of the two engines are
equal :

Options:

41652934638. 00K

41652934639. HE

41652934640. 500K

41652934641. 0K
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41652934638. 00K
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A 15 g mass of nitrogen gas isenclosed in a
vessel at a temperature 27°C. Amount of
heat transferred to the gas, so that rms

velocity of molecules is doubled, is about :
[Take R=8.3 ]/ K mole]
Options:

41652934642, 09 K
41652934643, 0 KJ
41652934644, 10K

41652934645, 14 KJ
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41652934642, 09K
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A musician using an open flute of length
50 em produces second harmonic sound
waves. A person runs towards the
musician from another end of a hall at a
speed of 10 km/h. If the wave speed is
330 m/s, the frequency heard by the
running person shall be close to :

Options:

41652934646, 333 Hz

41652934647, 500 Hz



41652934648, 006 Hz

41652934649, /20 Hz
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41652934646, 333 Hz

41652934647, 500 Hz
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A particle is executing simple harmonic
motion (SHM) of amplitude A, along the
x-axis, about x=0. When its potential
Energy (PE) equals kinetic energy (KE), the
position of the particle will be :

Options:
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A parallel plate capacitor with square plates
is filled with four dielectrics of dielectric
constants K, K,, K5, K, arranged as shown
in the figure. The effective dielectric
constant K will be :

Ky | Ky | L/2
Ksi Ky |2
«d/2+«d /2>
Options:
k= K1 1K) Kz + Ky)
Ki +K3 + K3 + K4
41652934654
=11t K3) Ky +Ky)
41652934655, K1 + Ky + K3 + Ky

(Kq + Ky4) (K7 + Kj)

T

41652934656.



. (K +Kp) (Kg + Ky)
2(K; + Kp +Kj + Ky)
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Options:
o (K +Kg) (K +Ky)
Ky + Ky + Ky + Ky
41652934654
41652934655, Ki + Ky + K3 + Ky
K= (Kl I K4) (KZ }K3]
MK _ P . 1
41652934656, 2(Ky + Ky + K3 +Ky)
K — (K +Kjy) (K5 + Ky)
M. 4+ ¥ Y : -
41652934657, 2(Kq + Kz + K3 +Ky)
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Charge is distributed within a sphere of
radius R with a volume charge density

A -2y
3¢ ’*,where A and a are constants.

p(r)=

r

If Q is the total charge of this charge
distribution, the radius R is :

‘i’. )
2 log [1 ol }
2 2maA

41652934658,
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Two point charges q-l(-vrl_{]‘ pnC) and
qo(—25 pC) are placed on the x-axis at
x=1 m and x=4 m respectively. The
electric field (in V/m) ata point y =3 mon

y-axis is,
1 _ 3
I:Laku =9x 10° Nm2C 2
47req
Options:
A A 5
(—631 +27j)x 10°
41652934662,
N Fay 2
63i —27j)x 10
41652934663,
Fa Fat 2
(81i —81j)x 10
41652934664,
(-81i +81j) x 102
41652934665,
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P A 5
(-631 +27j)x 10
41652934662

N ol
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41652934664,
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416852934665.
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In the given circuit the internal resistance
of the 18 V cell is negligible. If R, =400 (),
R;=100 2 and R, =500} and the reading
of an ideal vollmeter across R, is 5V, then
the value of R, will be :

Ry R4
VWA

\f“u'\f f\f\f’—

Options:

41652934666. 00

41652934667, 200

41652934668, 49042

41652934669, 200
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41652934666. 00

41652934667, 200

41652934668, P02



41652934669, 200
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A series AC circuit containing an inductor
(20 mH), a capacitor (120 pF) and a
resistor (60 (1) is driven by an AC source of
24 V/50 Hz. The energy dissipated in the
circuit in 60 sis:
Options:
: 2

41652934670, >-09%107]

: 3
41652934671, 226%10°]

102
41652934672, >17%107]

1N3
41652934673, 339%10°]
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T Uiteg FEdl 9ed § 6 93 (20 mH),
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Options:
41652034670, >65%10%]

: 3
41652934671, 226%10°]

102
41652934672, >17%107]

1N3
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One of the two identical conducting wires
of length L is bent in the form of a circular
loop and the other one into a circular coil
of N identical turns. If the same current is
passed in both, the ratio of the magnetic
field at the central of the loop (B, ) to thatat

By
the centre of the coil (Be), i.e. E will be :
Options:
41652934674 N
N2
41652934675,
.2

NZ
41652934676,

1
41652934677. N
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41652934674 N

41652934675.

41652934676,

Z|=

41652934677.
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A particle having the same charge as of
electron moves in a circular path of radius
0.5 cm under the influence of a magnetic
field of 0.5 T. If an electric field of 100 V/m
makes it to move in a straight path, then
the mass of the particle is (Given charge of
electron =1.6 x 10~ 19C)

Options:

- 31
41652934678, 21 %1077 kg

24
41652934679, 20X 107 kg

41652934680, 1-6%X107 “kg

16 x10- T kg
41652934681.
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T FHVI, T A9 s & Ay & THH
% 05T =g & 8§ U 0.5 cm 91 &
JAFHR 94 W FAd@ €1 Ffg 100 V/m
foe@ &= oFH W 98 F0 UF G @ o
Tl 2, T 01 1 FAHH BT

(faan & sorEe@ =1 aE9 =1.6x 10~ 19C)

Options:
- 31
41652934678, 21 %107 " kg

24
41652934679, 20X 107 kg

41652934680, 10107 kg

16 x10~ 7 kg
41652934681.
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A power transmission line feeds input
power at 2300 V to a step down transformer
with its primary windings having 4000
turns. The output power is delivered at
230 V by the transformer. If the current in
the primary of the transformer is 5A and
its efficiency is 90%, the output current
would be:

Options:

41652934682.

41652934683, 20 A

41652934684, B A

41652934685. e
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Options:

41652934682. i

41652934683, 20 A

41652934684, B A

41652934685. e
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The energy associated with electric field is
(Ug) and with magnetic field is (Uy) for an
electromagnetic wave in free space. Then:

Options:

>
41652934686, Ug > Uy



-
41652934687 . Ue<Us

41652934688, CE = UB
.
Up = —B

41652934689, 2

Question Number : 22 Question Id : 4165298807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Ife 7o M | U foega g @ &
forepa &= ¥ fAfed w1l (Uy) 9 as1g &9 4
fafea &1l (Ug) 8,

Options:

>
41652934688. Ug>Uy

e -
41652934687 . Ue<Us

41652934688, UE = UB

U
UE — —'}B
416529346889. -

Question Number : 23 Question Id : 4165298808 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Two plane mirrors are inclined to each
other such that a ray of light incident on
the first mirror (M;) and parallel to the
second mirror (M,) is finally reflected from
the second mirror (M,) parallel to the first
mirror (M,). The angle between the two
mirrors will be :

Options:

41652934690, 45°

41652934691, OO

41652934692. 7>

41652934693. %



Question Number : 23 Question Id : 4165298808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

3 HATA YU (M, 791 M,,) =l TR TH 10
W T T T g w1 U R sE M,
F YHiGT W g M, W aafad @t ¥ @
#aa: 98 M, § M, F THiaE TEfdd el ¢ |
TUW| T =19 H0 FH A EW

Options:

41652934690, °

41652934691, OO

41652934692. 7>

41652934693. %

Question Number : 24 Question Id : 4165298809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In a Young's double slit experiment, the
slits are placed 0.320 mm apart. Light of
wavelength A=500 nm is incident on the
slits. The total number of bright fringes that
are observed in the angular range
-30°=0=<30°1s :

Options:
41652934694, 320

41652934695, 21

41652934695, 220

641
41652934697,

Question Number : 24 Question Id : 4165298809 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

4 % U Tl swwn § faftd % o g0
0.320 mm ¥ T A =500 nm T FH
fafidl W g=a g1 i e - 30°<0<30°
¥ fam At Sra s 1 g 2

Options:



fg}

41652934694,
41652934695, 21
41652934695, 220

641
41652934697,

Question Number : 25 Question Id : 4165298810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The magnetic field associated with a light
wave is given, at the origin, by

B =B, [sin(3.14 x 107)ct +sin(6.28 x 107)ct].
If this light falls on a silver plate having a
work function of 4.7 eV, what will be the
maximum Kinetic energy of the photo
electrons ?

(c=3x%x108ms~1, h=6.6x10"34]-s)
Options:

41652934698, 7/ 2€V
41652934699, 892V

41652934700, 125V

41652934701, 082¢eV

Question Number : 25 Question Id : 4165298810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Hefag W T WHNE a0 & |a s
g e T

B =B, [sin(3.14 X 107)ct +sin(6.28 x 107)ct].
Ife 9T W T =ial # e, foms s
e 4.7 eV 8, W ISl & o THY Sfed
RRGHEEAl ®1 AT S Sl w1 e ?
(fem 2 : c=3x10°ms~!, h=6.6x10"
J-s)

Options:

41652934698, /-/2€V



41652934699, 892V

41652934700, 125V

41652934701, 082¢eV

Question Number : 26 Question Id : 4165298811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Atagiven instant, say t=0, two radioactive
substances A and B have equal activities.

The ratio E—B of their activities after
A

time t itself decays with time t as e -3t
If the half-life of A is In2, the half-life of
Bis:

Options:

41652934702, 4

41652934703 ~

41652934704,

41652934705, 4n2

Question Number : 26 Question Id : 4165298811 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
fa T U g, 1= 0 W< et gergf, A
91 B, 1 9iHga] S 2| I99 t F 9T,
Tt AiFTA F A II:_B 9 t & Ty
A

e 3t F FUR T2 €| AT A F 37377 In2
2, @1 B =1 ardfeTry A
Options:

In2
41652934702, 4

In2

41652934703, 2



2
41652934704. 2n2

41652934705, 4n2

Question Number : 27 Question Id : 4165298812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Ge and Si diodes start conducting at
0.3 Vand 0.7 V respectively. In the
following figure if Ge diode connection are
reversed, the value of V  changes by :
(assume that the Ge diode has large
breakdown voltage)

=
) Vo
- J |
b 'l ]
12V= o 5K
4 ‘
Options:

41652934706, 04V

41652934707, 02V

41652934708, 20V

41652934709, 08V

Question Number : 27 Question Id : 4165298812 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Ge T91 Si & SMAS, FHW: 0.3V T 0.7V R
g @ 9 ¢ feg ™ fEa | afE Ge
erEE % Tadl =i vere fean s a1 fava v, o
IEd =1 9F B0 : (9 & 6 Ge =S #i
W9 dieedl AAHF T1)

Ge
>t v,
P
B
PV= A % 5K
1
Options:

41652934706, 04V

41652934707, 02V

41652934708, 20V

41652934709, 08V

Question Number : 28 Question Id : 4165298813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In a communication system operating at
wavelength 800 nm, only one percent of
source frequency is available as signal
bandwidth. The number of channels
accomodated for transmitting TV signals of
band width 6 MHz are (Take velocity of
light c=3Xx 108m/s, h=6.6 x10 34 ]-s)

Options:

2 O 5
41652934710, 0-29%10

41652934711, 386X 10°

41652934712, +87%10°

41652934713, /9% 10°

Question Number : 28 Question Id : 4165298813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



800 nm T W FY Fd TC TF HAOR
e | TarTel 1 el B1a AgI 1 °4 T

wfawa a2 e ¥ foau swEm # 9w 2
6 MHz s 912 & TV faai ae fea
Il 1 59 i foran o g €2
(fe=n T c=3x10%m/s, h=6.6x10"34
J-s)
Options:

: 5
41652934710, 0-29%10
41652934711, 386X 10°

41652934712, +87%10°

41652934713, /9% 10°

Question Number : 29 Question Id : 4165298814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A carbon resistance has a following colour
code. What is the value of the resistance ?

GOY Colden
Options:

41652934714, 04 MQ = 5%

41652934715, 290k + 5%

/ o/
41652934716, 0L K2 = 10%

o/
41652934717, 0> MQ = 5%

Question Number : 29 Question Id : 4165298814 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

U FET YA F HoR HIS T TS
yfceis =1 59 &0 :

— 11 T+

GOY Golden

Options:

41652934714, 04 MQ * 5%



41652934715, 200k 5%

41652934716, 04 K2 = 10%

o/
41652934717, 0> MQ = 5%

Question Number : 30 Question Id : 4165298815 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The pitch and the number of divisions, on
the circular scale, for a given screw gauge
are 0.5 mm and 100 respectively. When the
screw gauge is fully tightened without any
object, the zero of its circular scale lies 3
divisions below the mean line.

The readings of the main scale and the
circular scale, for a thin sheet, are 5.5 mm
and 48 respectively, the thickness of this
sheet is :

Options:

41652934718, /2> mm

41652934719, °-/°0 mm

41652934720, 2920 mm

41652934721, 2/40 mm

Question Number : 30 Question Id : 4165298815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T T=ET F T a9 IHE THE W A
HEA, FE: 0.5 mm TA1100 €1 ST T=EId
=1 farnn foredt a1 % O e %9 fean W g,
Al 59 g T I 1 T H A 9
I o 7

T Ydcil =g HI HIZE 6 fau 38 T=H F
T THH a9 gHg UHH H1 qISdie, HE
5.5 mm 91 48 &1 d 9¥X * HIZE
B

Options:

41652934718, O/ mm



41652934719, °-/00 mm

41652934720, 0-9°0 mm

41652934721, 2740 mm
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Question Number : 31 Question Id : 4165298816 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The major product of the following reaction

18 :
ﬁ) (J)H
N N CH; .
II. y |"—Z:-._ ”
Options:
?H
L':::? e | CH3
i | H::I:.= O
41652934727, 2 TR
OH
HyC N

41652034723, S



41652934724, ot

?H
e T

Question Number : 31 Question Id : 4165298816 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
frefafaa sfafFrn s g s 2
O OH

CH,

41652934725,

Options:
41652934722, o T
OH
HyC 3_1
e f}
41652034723, -
OH
i f_,ﬂ/
D ='.' i .

41652934724, ot



41652934725,

Question Number : 32 Question Id : 4165298817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which of the following compounds is not
aromatic ?

Options:
i . i
41652934726, N
ﬁxh&,ﬂ
41652934727 I
A
HH - -

b1
41652934728, S

B
41652934729

Question Number : 32 Question Id : 4165298817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

=1 § | FF 1 A WEteE T8 7 ?

Options:
[‘-‘-’-"’;H'x
416529234726, N
.

41652934727 I



41652934728,

\é"
41652934723

Question Number : 33 Question Id : 4165298818 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The major product of the following reaction
is :

-_1:]5‘-"'--.___ o (.-: N
| NH; (i) Bry/hv

S CH,CH; (i) KOH (dil) !

Options:

41652924730, PR

41652934731, 3

41652934732, =7

41652934733,

Question Number : 33 Question Id : 4165298818 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



frefafaa sifafra =1 ger SR #

O
Il

N _,,C
I TNHy (i) Bry/hw

S~ “CH,CH; (i) KOH (dil)

Options:

41652934730, 7 T~

O

A ‘LL“"-

8.

:Q::'::,.-/ B “-\[/ 3
41652934731. CH;

e

f’ “‘IlfNH

o M)
41652934732, : e

I | NH

'\-;.,_:_q--.__.-"" ‘HCH'}’
41652934733, :

Question Number : 34 Question Id : 4165298819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The products formed in the reaction of
cumene with O, followed by treatment
with dil. HCI are :

Options:
OH
| il
N
L] ™ v Scn,
41652934734, =
OH

41652934735, =~



41652934736.

41652934737.

Question Number : 34 Question Id : 4165298819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
FHA T O, T WY ATUHDN FH F T9v9w1]
a9 HCl & 919 fa8= & | 379 95©1 3915
%

Options:

OH
| OH

P N

; i
[ | ™ e e

-

A

41652934734.

OH

DA

| | ™ Hc S

41652934735, S
L:h ” TR e O
41652934736, - ,
O\/CHB

2N
r ﬂ a9 CH,-OH
Ao

41652934737, =

Question Number : 35 Question Id : 4165298820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The major product formed in the following

reaction is :
® S I3
fﬁx 7N dil. NaOH
B0 SH + ] R

Options:



OH
_,LH_#JLH
41652934738, HyC H
OH ﬁf
41652934739, S

41652934740, T

41652934741,

Question Number : 35 Question Id : 4165298820 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
frfafaa sifufswan =1 9 e #
Q. -CH;

Ak e dil. NaOH
H,C~~ ~H +[ =

Il

Options:
OH
_,LH_JJLH
41652934738, HyC H
OH (ﬁ
H;C i H'\-\.\,__.-"".-'. H\l’f; Hﬂ
41652934739, S
O H
H- - J L'm____,.f"'i o T
el |
41652934740, S
O H
e T _.-'JLH - " .-"'-:H"'\-\.
(T mc[ ]

41652934741,



Question Number : 36 Question Id : 4165298821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The increasing basicity order of the
following compounds is :

(A) CH,CH,NH,
CH,CH;
(B) CH,CH,NH

CHy

© HC-N-CH,
G

(D) Ph—N—H

Options:
41652934742, (A)<(B)<(D)<(C)

41652934743, (P)<(C)<(B)<(A)

41652934744, (P)<(C)<(A)<(B)

41652934745, A)<(B)<(C)<(D)

Question Number : 36 Question Id : 4165298821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Trefafaa il 8 s 1 9ga #9 §
(A) CH;CH,NH,
(l:HZCHS
(B) CH;CH,NH

CHy

© ne-N-on,
CHy

(D) Ph—N—-H

Options:
41652934742, (A)<(B)<(D)<(C)

41652934743, (P)<(C)<(B)<(A)

41652934744, (P)<(C)<(A)<(B)



41652934745, A)<(B)<(C)<(D)

Question Number : 37 Question Id : 4165298822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The correct sequence of amino acids present
in the tripeptide given below is :

Me Me Me. OH
Y H (l:l) \‘/
N ~N-_ L P o OH
I.lzN.»-/ L“*u”-f e ~ N 77N
: H [
O I
~0QH
Options:
41652934746, Leu-Ser-Thr
41652934747, 1hr-Ser- Leu
7a] - _
41652934748,  val-Ser-Thr
41652934749, 1hr-Ser-Val

Question Number : 37 Question Id : 4165298822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

4 fod ZEu=Ee | UHA o 1 T8 w

2
Me Me Me. OH
\l/ H 0 \'/
P i S _./"N"'-\ f‘“\x N G /OH
T e S
E H I
O =
~OH
Options:
41652934746, Leu-Ser-Thr
41652934747, 1hr-Ser- Leu
41652934748,  val-Ser-Thr
41652934749, 1hr-Ser - Val

Question Number : 38 Question Id : 4165298823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



The tests performed on compound X and
their inferences are :

Test Inference
(@) 2, 4-DNPtest Coloured
precipitate
(b) Iodoform test Yellow
precipitate
(c) Azo-dye test No dye
formation

Compound ‘X’ is :
Options:

[]'{Hg OH

e

P N Ny
(Y e

.
- o~

416529234750,

H.C. _CH
S

41652934751, =

41652934752, =

I I3C LT e CI 13

N.-"'
.

o .

L J CHO

41652934753, B e

Question Number : 38 Question Id : 4165298823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Afir X W ford T wdter fe foeed 29 2
ey ey

(3) 2,4-DNPWiegwm &M /@4y

(b) FSIEME W el AT 599

() TUSI-=r wligm  2E W

R X T

Options:



r |( s
41652034750,
H,C.____CH,
{_H,L-.H_T_,. COCH,
41652934751, S
NH,
il

41652934752, o

2 N o, - A
L

. [ “CHO
41652934753, R

Question Number : 39 Question Id : 4165298824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The major product obtained in the
following reaction is :

OH (CH3CO),0O/ pyridine (1 eqv.)

~ L :
A S T R, ]/ room tump1
IQR ,” NH,
R
Options:
OCOCH,
et -”*ﬂ'ﬁ'm/
- J NH,
41652934754,
OH
. ”Jh"‘\/
LH |( NHCOCH;4
41652934755,

AN ..f"'L-'c:a./

| ﬂ NHCOCH;,
41652924756,



41652934757,

Question Number : 39 Question Id : 4165298824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

=1 srfaferan & gra 29 e 7= SR ©
OH  (cH,0),0/ /8 (1 eqv
.I;‘f: i N ﬁ“"“«// m % aea W
(]
Options:
OCOCH,4
T *’*ﬂ'ﬁ'm/
| NH,

=
41652934754,

FH
[.:T;-’:"‘““-h]rf' m\/
S NHCOCH;
41652934755,

41652934756, S

41652934757,

Question Number : 40 Question Id : 4165298825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The correct match between Item I and

Item Il is :

Item 1 Item Il
(A) Benzaldehyde (P) Mobile phase
(B) Alumina (Q) Adsorbent

(C) Acetonitrile (R) Adsorbate



Options:
41652934755 &) @) (B)?(R); (O Q)

arasoaserss, 2@ 0 @0 > ®)
sigEsandees, ) @D G E)

s1650934761 OV T R):(B)(Q): (O~ @)

Question Number : 40 Question Id : 4165298825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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TG | 901 WE 11 & =14 WE gHA € -

LCd | LCal|
(A) dsifeserse (P)  Tfereiiet W=
(B) TEET Q) =i
(C) UeFmgZRe  (R) HieRTSH
Options:

41652934758, N () (B ([R);: (O~ Q
arasoaserss, 2@ 0 @0 > ®)
sigssgaies (BB @O @)

41650034761 ) 7 R):(B)(Q); (O (P)

Question Number : 41 Question Id : 4165298826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

When the first electron gain enthalpy
(A¢gH) of oxygen is —141 kJ/mol, its
second electron gain enthalpy is :

Options:

41652934760 2 Positive value

416529347¢3 & more negative value than the first

negative, but less negative than the
41652934764, 117t

41652934765, almost the same as that of the first



Question Number : 41 Question Id : 4165298826 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

gfe s F1 999 ToEeE wfey Uded
(A.gH) 1 A —141 KJ/mol &, 79 T
SO e Uedt & HAE ©

Options:

41652934762.

41652934763, T8 Y S FHOTEF

41652934764. e §

Y&l HH F AT SE
41652934765,

Question Number : 42 Question Id : 4165298827 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The correct statement regarding the given

Ellingham diagram is :
A ‘lcawlo
.xt‘.g_’_r______:._ z
= '—300 ':'.w-—__-‘-:;::" /
x :‘—'?h_---._ﬁ ‘l?(_'\-‘f‘
PRI N
9: —600 '}:Ln* : . )
L —TE 0273 ?
s— ‘1050 _--_-_-‘ 3
H00-C }
500°C Temp. (*C)  2000°C
Options:

Coke cannot be used for the
41652934766, extraction of Cu from CuQO.

At 1400°C, Al can be used for the
41652934767 extraction of Zn from ZnO

At 500°C, coke can be used for the
41652934768 extraction of Zn from ZnO

At 800°C, Cu can be used for the
41652934769, extraction of Zn from ZnO.
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Correct Marks: 4 Wrong Marks: 1

feu T sEE ufeEw 3o & 99y H 9
Y % :
A r_,,’LC“lQ
ACO T
= —300 k"”;:-:- /’/
E i “-3_7‘,-/ 20
= P I
g —600 ,‘1‘1“#0? “'--..u___f_;)i._ _
e _'1;,1-33 |
L ——Ta O
—1050 }— 3
800°C %
500°C  Temp. (\C)  2000°C
Options:
Cu,O ¥ Cu 1 Frerd e =1 w4
4165293476, PP &I (RN ST Tehal 2l
ZnO T Zn 1 fsdr 1400°C 9T Al
41652934767, 11 AT HTh ot 1 Tt €

ZnO ¥ Zn 1 =99 500°C W FiF
41650034768 PN TAT Fh Tl o1 w1 2|

ZnO H Zn F1 F&RT91 800°C W Cu 1

41652934769. . i

Question Number : 43 Question | d : 4165298828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The temporary hardness of water is due to :
Options:

41652934770, CaCh

a1652934771. CA(HCOs),

41652934772, NaCl

41652934773, 1N3250,
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T i ST TSRl ol FRY ¢
Options:

41652934770, aCh

41652934771, “A(HCO;),

41652934772, NaCl

41652934773, Va290,

Question Number : 44 Question Id : 4165298829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The metal that forms nitride by reacting
directly with I\I2 of air, is:

Options:

41652934774, K

41652934775. Rb

41652934776, ©5

41652934777, =

Question Number : 44 Question Id : 4165298829 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

98 91 S F F N, ¥ @9 aAffrm =
AG2IEE SN &, ©

Options:

41652934774, K

41652934775, RD
41652934776, ©5

41652934777, =

Question Number : 45 Question Id : 4165298830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
Good reducing nature of H;PO, is
attributed to the presence of :

Options:

41652934778, One P—H bond

41652934779, 1wo P —Hbonds

41652934780, One P~ OH bond

41652934781, 1wWo P —OH bonds

Question Number : 45 Question Id : 4165298830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

H,PO, Fi =51 A= ¥aid faen surefa

FFEROUE?

Options:

41652934778, *r P —H 39

41652934779, W P —H SEY

41652934780, or I~ OH T4
AP -OH 318y

41652934781,

Question Number : 46 Question Id : 4165298831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The transition element that has lowest
enthalpy of atomisation, is :

Options:
41652934782, Y

41652934783, <Y

41652934784, ZN

41652934785, 1@

Question Number : 46 Question Id : 4165298831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



A FHIF Tl T =l HEHA 7 ©
Options:

41652934782, Y

41652934783, U

41652934784, ZN

41652934785, 1@

Question Number : 47 Question Id : 4165298832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The complex that has highest crystal field
splitting energy (4), is :

Options:

41652934786, 12l 0T

41652934787, KalCo(CN)g]

41650934788, |CO(NH3)5C(1JCl,

Co(NH @)@l
afgesssas, POBEgsELONC,

Question Number : 47 Question Id : 4165298832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Aftyshan e & fares 3 (A) T e
TFel & :

Options:

41652934786, 12l 0T

41652934787, KalCo(CN)g]

41652934785 |CONH;);CIJCL,

Co(NH 0)ICl
aEEsysggs, OO ICT,

Question Number : 48 Question Id : 4165298833 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Homoleptic octahedral complexes of a
metal ion ‘M®>*’ with three monodentate
ligands L, L, and L; absorb wavelengths
in the region of green, blue and red
respectively. The increasing order of the
ligand strength is :

Options:

41652934790, L1 <L2<L;

1652934791, B3<la<ly

41652934792, 2 <L1<Ls

L;<L;<L,
41652934793. =

Question Number : 48 Question Id : 4165298833 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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1 TSR fermeei Ly, L, 991 Ly & W19 =1
T H1g AET ‘M F BRI E® AEHh
TFel HAW: &, Aol Ud o & & e
A9 F2d & | fore=l =1 Yeaerar &1 J@dl
FHE:

Options:

41652934790, 1< La<L3

1652934791, B3<la<ly

41652934792, 2 <L1<Ls

L;<L;<L,
41652934793. =

Question Number : 49 Question Id : 4165298834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which of the following conditions in
drinking water causes
methemoglobinemia ?

Options:
41652934794, > 100 ppm of sulphate

41652934795, > 20 ppm of lead



41652934796, > 20 ppm of nitrate

41650934797 20 Ppm of chloride

Question Number : 49 Question Id : 4165298834 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A % Ul | HEHIATIATHAT B4 % FHR0 6
T
Options:

41652934794, > 100 ppm HEhHE

41652934795, 20 PPmM o

> 50 ppm 522
416525934796, PP -

41652934797, > 20 ppm FIES

Question Number : 50 Question Id : 4165298835 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The pH of rain water, is approximately :
Options:

41652934798, /0

41652034799, /-0

41652934800, 02

41652934801, 5.6

Question Number : 50 Question Id : 4165298835 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
91 & T T pH T :
Options:

41652934798, /0

41652034799, /-0

41652934800, 02



41652934801, 5.6

Question Number : 51 Question Id : 4165298836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
For the following reaction, the mass of
water produced from 445 g of C;H,,,0,
is :
2CH 1 O4(s) +163 O,(g) —» 114 CO,(g)
110 H,O(1)

Options:

41652934802, 1498

41652934803, 19°8

41652934804, 2908

890 g
41652934805,

Question Number : 51 Question Id : 4165298836 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
= sfafsan & ferg, 445 g CH, O, 9
IIfed Sel 1 Z9HH €

110 H,O()

Options:

41652934802, 1458

41652934803, 19°8

41652934804, 2908

890 g
41652934805,

Question Number : 52 Question Id : 4165298837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
At 100°C, copper (Cu) has FCC unit cell
structure with cell edge length of x A. What
is the approximate density of Cu (in
g cm ™ ) at this temperature ?

[Atomic Mass of Cu=63.55 u]

Options:



41652934806, *

41652934807, X

41652934808, X

oy (]
2

416529348089.

Question Number : 52 Question Id : 4165298837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
100°C T HH (Cu), x A FIfess HR I evars
A FCC o e STaq1 Tad &1 59
A9 W Cu 1 T7 (g om > H) TIT BT
[Cu 1 TRHI] YR =63.55 u]

Options:

41652934806, *

41652934807, X

41652934808, X

oy (]
Al

416529348089.

Question Number : 53 Question Id : 4165298838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Which of the following combination of
statements is true regarding the
interpretation of the atomic orbitals ?

(a) An electron in an orbital of high
angular momentum stays away from
the nucleus than an electron in the
orbital of lower angular momentum.

(b) For a given value of the principal
quantum number, the size of the orbit
is inversely proportional to the
azimuthal quantum number.

(c) According to wave mechanics, the
ground state angular momentum is

lto o
equalto ——.

(d) The plot of & Vs r for various
azimuthal quantum numbers, shows
peak shifting towards higher r value.

Options:
41652934810, @) (b)

41652934811, @) (9)
41652934812, () (©)

41652934813, (@) (d)

Question Number : 53 Question Id : 4165298838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
41652934810, (@) (b)

41652934811, @) (9)
41652934812, () (©)

41652934813, (@) (d)

Question Number : 54 Question Id : 4165298839 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
In which of the following processes, the
bond order has increased and paramagnetic
character has changed to diamagnetic ?

Options:

41652934814. NO—+ NG

—3 b
41652934815. 02 03

¢ 2
41652934816, 0;- O,

N, — N,?*
41652934817, 2 ° 2

Question Number : 54 Question Id : 4165298839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

9 fou Tu f9 wehd ¥, ey wife 98 T
R SFAHE TV Hagasg | a5 T2
Options:

41652934814. NO—+ NG

41652934815, -2 -2
41652934816,

41652934817.

Question Number : 55 Question Id : 4165298840 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The entropy change associated with the
conversion of 1 kg of ice at 273 K to water
vapours at 383 K is :

(Specific heat of water liquid and water
vapourare 4.2kJ K '1kg “land 20 KK !
kg ! ; heat of liquid fusion and
vapourisation of waterare 334 k] kg ! and
2491k kg !, respectively). (log 273 =2.436,
log 373=2.572, log 383 =2.583)

Options:

41652934818 264K kg 'K

41652934519, >49 K kg~ 1g-1

41652934820, 790K kg 1K™!

-1
41652034821, 20K kg™ K

Question Number : 55 Question Id : 4165298840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

273 K W 1kg 9% &1 383K & ¥ 49 H
Fge T U2t | ftEdd 2

(S a1 w9 %1 faferse Fw1 w9
42K K 1kg 1 w20 KK 1kg 1§
e H FOAT TG G HI ATOHLI FHEAT
FA9: 334 kJ kg ! wd 2491 kJ kg ! ¥) (log
273 =2.436,log 373=2572, log383=2.583)
Options:
41652934818, 264K kg~ 1K™

41652934519, >49 K kg~ 1g-1

41652934820, 790K kg K1

-1
41652034821, 20K kg™ K

Question Number : 56 Question Id : 4165298841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A solution containing 62 g ethylene glycol
in 250 g water iscooled to — 10°C. If K, for
water is 1.86 K kg mol ~ !, the amount of
water (in g) separated as ice is :

Options:



41652934822, 16

416529234823, 32

41652934824,

4165239234825,

Question Number : 56 Question Id : 4165298841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e e fowm 62 g sforeli Temsehia 250 g
T+ H 8, F1 - 10°C 9% 221 fovan ) afg
9l 1 K, 1.86 K kg mol ~1 3, 7@ % & &9
T 37 g€ T 6 AE (g W) #

Options:

41652934822, 16

416529234823, 32

41652934824, 48

4165239234825, 64

Question Number : 57 Question Id : 4165298842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Consider the following reversible chemical
reactions :

Ag(g)+Ba(8) =2 2AB(g) ..... (1)

’

6AB(g) =2 3A, () + 3B(g) ..... )
The relation between K; and K, is :
Options:

- 3
41652934826. K?- 5 Kl

- 3
41652934827. K=K

41652934528, K1K2=3



1
KK, = g
41652934829,

Question Number : 57 Question Id : 4165298842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
1 Sormirg afufmaet o faam =1
. Ki .
Az(g)+Ba(g)=—=2AB(g) ..... (1)
; K,
6AB(g)==2=3A5(g) +3B2(g) - (2)
K, @& K, & == 9a4 ¥ :

Options:

- 3
41652934826. K?- 5 Kl

o 3
41652934827, 2= Ky
41652934528, K1K2=3

K, K !
1 2_3

41652934829.

Question Number : 58 Question Id : 4165298843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If the standard electrode potential for a cell
is 2 V at 300 K, the equilibrium constant
(K) for the reaction

bZn@)+Cm;+qu:Jﬁg+@q)+Cu@)

at 300 K is approximately
(R=8 JK " Imol~1, F=96000 C mol 1)
Options:
80

41652934830, ©

41652934831, &%

41652934832, ©

160
41652934833, ©

Question Number : 58 Question Id : 4165298843 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



TE T F1 300 K W HFF soiaes favyg 2 v
21 sAfufEn

Zn(s) + ™ (aq) = 75 (aq) + Cu(s) *
eI 300 K a9 9= Hrmae i (K) o+
¥

(R=8JK !mol !, F=96000 C mol 1)
Options:

-80
41652934830, ©

41652934831, @2

L~ 160
41652934832, ©

160
41652934833, ©

Question Number : 59 Question Id : 4165298844 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

For the reaction, 2A +B — products, when
the concentrations of A and B both were
doubled, the rate of the reaction increased
from03mol L 's 1to24mol L™ 1s 1,
When the concentration of A alone is
doubled, the rate increased from 0.3 mol
L ls 1Tto06molL 1s 1

Which one of the following statements is

correct ?
Options:

Order of the reaction with respect to
41652934834 DS 2

41652934535, lotal order of the reaction is 4

Order of the reaction with respect to
41652934836, 2152
Order of the reaction with respect to

41652934837, Bis1

Question Number : 59 Question Id : 4165298844 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



SAfufwan, 2A +B » products F foo, 59 A
T4 B S i WE1 ST I T, 9 SR
W 03 mol L™ 1s ! ¥ FgH 2.4 mol
L-1s~1 217t | 5= Fae A i digdl SrEl
I ME d9 T 0.3 mol L-1s~1 & dgat
0.6molL s~ 1 A1 7E |

o1 o = | e T © 2

Options:

41652934834, 2N AN I e B % AUg H 2 T

41650034535, T SAHHA H HIE 4 T

41652934536, SN bl il A FANGH 2 T

41652934837 Afferan =t #ife B & 999 4 1 %l

Question Number : 60 Question Id : 4165298845 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

For coagulation of arsenious sulphide sol,
which one of the following salt solution will
be most effective ?

Options:

41652934838. Ak,

41652934539, PaCh

41652934840, NaCl

41652934841, V2sPOs

Question Number : 60 Question Id : 4165298845 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AL FoFEe 1 @hed 74 3 4 fofg oam
F He ¥ Hay AfF FaHRt g2
Options:

41652934838. A1C13

41652934839, BaCh



41652934840, NaCl

41652934841, V2304
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Question Number : 61 Question Id : 4165298846 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let A={xeR : x is not a positive integer}.
' 2x
x—1"

Define a functionf: A >R as f(x)=

then fis:
Options:
41652034542 POt Injective

41652934843, iNjective but not surjective

41652934844 surjective but not injective

neither injective nor surjective
41652934845,

Question Number : 61 Question Id : 4165298846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AET A={xeR : x TF ¥H qUIF & &) | TF
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. 2% =

fl)="=, A T

Options:



TFFH FoHd Tal 2

41652934842.

Tha! &, T ArBeF For 76l ¢ |

416529348453.

ATBEF 8, T Ukl o el ¢ |

41652934844.

9 THa ¢ 3R 7 A=SEF For 2|
41652934845,

Question Number : 62 Question Id : 4165298847 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let z;; be a root of the quadratic equation,
x24x+1=0. I z=3+6i25 — 3izy, then
argzisequal to:

Options:

¢ !}

41652934846, =

o4

41652934547,

w3

41652934848.
41652334541,

Question Number : 62 Question Id : 4165298847 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T o fgamia I e a2 + x4+ 1=0, FTH
e zy §1 AR z=3+6iz5 — 3izy & A

VN 2 (arg z) TR T
Options:

n
41652934846, 2

o4

41652934547,

w3

41652934848.



41652334541, 0

Question Number : 63 Question Id : 4165298848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The number of all possible positive integral
values of a for which the roots of the
quadratic equation, 6x2—11x+a=0 are
rational numbers is :

Options:

41652924850, 2
3

41652924851,

41652934852, 4

41652934853, 0

Question Number : 63 Question Id : 4165298848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1
a F 3 IH gwifaa o= quie JE F 9=
Torer foru feamd™ | 6x2 —11x +a=0

% o s e €, 2
Options:
41652924850, 2

3
41652934851,

41652934852, 4

41652934853, 0

Question Number : 64 Question Id : 4165298849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1
If

—t -t .
5] e cost e sint

t —t —t . —t . —t
A=|le —e cost—e sint —e sint+e cost
t

I

2e tsin t -2 tcos t

then Ais:

Options:



invertible only if t =.
41652934854.

w
invertible only if t=—.

41652934855.

o

41652934855, invertible for all teR.

not invertible for any teR.
41652934857,
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t —
cost e sint

e e
t —t —f . -t & —t
A=|e' —etcost—e 'sint —e ‘sint+e ‘cost

et 2e tsin t —2e tcos t

%, WA :
Options:

F[EHAIE (invertible) €, F9 74, 919

41652934854, t=m T

Eﬂ?ﬁn“iﬂﬁ’ﬂ%,aﬁaﬂﬂ,ﬁﬁt:%%l

41652934855.

41652934856, W teR F T o |

faedt ot teR o ToTu Sopmvig 72 T

41652934857

Question Number : 65 Question Id : 4165298850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If the system of linear equations
x—4y+7z=g
3y—5z=h
2e+5y—9z=k
is consistent, then :
Options:

41652934858, 28 th+k=0

41652934859, 81 2h k=0



41652934860, 8 1h1+2k=0

g+h+k=0
41652934861.
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Ife tfgs T e
x—4y+7z=g
3y—5z=h
2x+5y—9z=k
T (consistent) €, T :
Options:
41652934858, 28 th+k=0
41652934859, 8 T Zh+k=0
41652934860, 8Th+2k=0
g+h+k=0
41652934861,

Question Number : 66 Question Id : 4165298851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The number of natural numbers less than
7,000 which can be formed by using the
digits 0, 1, 3, 7, 9 (repitition of digits
allowed) is equal to :

Options:

2
41652934862. 372

41652934863, -
41652934864, 374

41652934865, 220
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i 0,1,3,7,9 % F40 U (& Bl H
S 1 THAl €) S o b Al Wi
et S 7,000 ¥ FH §, B @ :
Options:

372
41652934862. " T

41652934863, 370

41652934864, 374

41652934865, 220

Question Number : 67 Question Id : 4165298852 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1

The coefficient of t* in the expansion of

(1 6’

\It 1S :

b

Options:

41652924866, 12

41652934867, 10

41652934868, 10

41652934860, 14
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Correct Marks: 4 WrongMarks: 1
' 6 \3

1-t
oY \v4 * ".
{1 tJ % YHE H t4 00 €

Options:

41652934866, 12

41652934867, 10

41652934868, 10

41652934860, 14



Question Number : 68 Question Id : 4165298853 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

Let a,b and c be the 7t 11th and 13t terms
respectively of a non-constant A.P. If these
are also the three consecutive terms of a

G.P., then 2 is equal to :
c

Options:
41652924870, 4

41652934871, 2
41652934872, 13

41652934573,

Question Number : 68 Question Id : 4165298853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HMT a, b T ¢ TH 9T Fel (S fF =R
T 4 981 ©) & FHAN:74, 119 991 139
92 &1 Ffg q u URR 491 F ot 4 FErE
Options:

41652934570, 4

41652934871, 2

7
41652934872, 13

&

41652934573,

Question Number : 69 Question Id : 4165298854 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The sum of the following series

1+6+9(12+22+32)+ 12(12+22+32+42)

7 9
15(1*’-+22 +.,.+52)
+ ¢ up to 15 terms,
11
is :
Options:

41652934874, /010

41652934875, /020

41652934876, 7830

41652934877, /220

Question Number : 69 Question Id : 4165298854 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

9ﬁ2+22+32) 12@2+22+32+42)
1+6+— 7 + 5

15(12+22 +.,‘+52)
11

. F 999 15 &I &

.

T %’ :
Options:
41652934874, /010

41652934875, /020

41652934876, 7830

41652934877, /220

Question Number : 70 Question Id : 4165298855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

For each xeR, let [x] be the greatest integer
less than or equal to x. Then

" lim 'x([x]i x|) sin [x]
x—0

isequal to:



Options:
41652934878, Sinl

41652924873,

41652934880,  Sinl

4168525924551,

Question Number : 70 Question Id : 4165298855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T xeR % fo1Q, 901 2], T wEww qUis
W x & WHM #AYG] SHH FH T, a9l
lim x([x]+x]) sin [x] TR E -

>
X

Options:
41652934878, Sinl

41652924873,

41652934880,  Sinl

4168525924551,

Question Number : 71 Question Id : 4165298856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
lfz =3 tan t and y=3 sec t, then the value

of 47V at1;=:5
dx? 4
Options:
1
41852924852, 6
1
)
416529034883. ENC
1
32

41652934884,



)

)
41652934885. 7

Question Number : 71 Question Id : 4165298856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A x=3tant TMy=3sect g, @ t="q

4
2 \
Y FamE:
2
dx*
Options:
1
416529348052 6
1
"
41652934883. 6VC
1
- W 5.
41652934884, 3\‘{:
3
VD
41652934885, “J:

Question Number : 72 Question Id : 4165298857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If both the roots of the quadratic equation
12— mx + 4 =0 are realand distinct and they
lie in the interval [1, 5], then m lies in the
interval :

Options:

41652934886.( %4

41652934887. (3,4)

41652934888, (4.5)

5, 6)
41652934888.

Question Number : 72 Question Id : 4165298857 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



7t fgamd T a2 — my +4=0 % A1 g
anafas o1 fum & 3R 3 sfaua [1,5) § fem
%, Al m o s A fom &, =

Options:

41652934886.( =4

41652934887,(3'4)

41652934888, (4. 5)

5.6)
416529348889.

Question Number : 73 Question Id : 4165298858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let f be a differentiable function from

%
2 _for

R to R such that |f(x) f(l;)|£2|x Y
1

all x, y ¢ R. 1f f(0)=1 then [f*(x)dx is
0

equal to:

Options:

41652934530,

41652934891, 1

o

41652934532,

416529348393,

Question Number : 73 Question Id : 4165298858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
M f: R >R TF TH sGFe o &, 6
3/

T,y e R F RO |f (x)- f@) < 2o

1
T ARAO =17 @ [f*(x)dx TRE:

0

Options:

41652934530, 0



41652934891, 1

1
41652934532, 2

416529348393, -

Question Number : 74 Question Id : 4165298859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
' 8w 6
52" +7x
If .‘r(l)=f = . 1__’ thl', (_1'320_), and
(r F1 |2x")

f(0) =0, then the value of f(1) is:

Options:
1
41652934594
1
41652934595 4
1
2
41652934596
1
4
41652934897,

Question Number : 74 Question Id : 4165298859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
5x° +7x°

A f(x)=|— —-dx, (x=0) Fen

Options:

416529345394,

W | =

41652934535,



M=

416529348396,

1

41652934897. A

Question Number : 75 Question Id : 4165298860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
_1;.1 |
) _[ tan 0
o v 2k sec O

1
J do=1 ﬁ (l‘?D), then the

value of kis :

Options:

2
41652924898,

1
41652924899,

4
41652924900,

1

..
416529234901, <

Question Number : 75 Question Id : 4165298860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

tan 0 1
T ——db =1 — k>{]} 3 =

WEJJ&HEH 7 0 & Ak
H:TITFW%
Options:

2
41652934598,

1
41652934599,

4
41652934900,

1
41652934901, 2

Question Number : 76 Question Id : 4165298861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



The area of the region
A={(x, y): 0=y=xix +1 and —1=x=1} in
Sq. units, is :

Options:
2
3
41652934902
1
41652934903,
4

41652934904, 3

41652934905, 2

Question Number : 76 Question Id : 4165298861 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
4 A={(x, y): 0=y=xx| +1 T — 1=x=1}

1 7 SRS H ATRA ¢
Options:

2

3
41652934902,

1
41652934903, 2

4

41652934904, 3

41652934905, 2

Question Number : 77 Question Id : 4165298862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let f: [0, 1] -» R be such that f(xy) = fix).f(y),
for all x, y € [0, 1], and fl0)=0. If y=y(x)
satisfies the differential equation,

' 13 \
%:f(l') with y(0) =1, then y[iJ | y[%)
is equal to :

Options:

416529345906, 2



41652934307, 3

416529243905, 4

41652934303 5

Question Number : 77 Question Id : 4165298862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AT f: [0, 1] >R 38 9&R g fF @+
%,y e [0, 1] F T flxy) = fix). fly) T (00

g1 AR y=y(x) FTaHA mﬁwg:ﬂx)

F1 H F@ € A y(0)=1 T, @

U(l-\] | U{EJ W %‘ .
4] T\4 .
Options:

416529345906, 2

41652934307, 3

41652334508, 4

41652934303 5

Question Number : 78 Question Id : 4165298863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let S be the set of all triangles in the
xy-plane, each having one vertex at the
origin and the other two vertices lie on
coordinate axes with integral coordinates.
If each triangle in S has area 50 sq. units,
then the number of elements in the set S
i8 2

Options:
41652924910, 9

416529345911, 18

41652934%12.

416529345913, 32



Question Number : 78 Question Id : 4165298863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TS, xy-aa H Feora Tt v Brysi &1 9=
T foem u vitd e foig W aen ge & v
frdwian 1eil © & a1 fome Fdwis quiwig
g1 Afe s = wF e #1 &Ewa 50 3
T B, 9l 94 S F IaTEl F W@ ©
Options:

41652934910 9

416529345911, 18

41652934%12. 36

416529345913, 32

Question Number : 79 Question Id : 4165298864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let the equations of two sides of a triangle
be3x - 2y+6=0and 4x + 5y~ 20 =0. If the
orthocentre of this triangle is at (1, 1), then
the equation of its third side is :

Options:

4igeno5dg14 122y—26x—1675=0

41652934915, 26X —122y—1675=0

41652934916, 20x+61y+1675=0

122y + 26x +1675=0
416529349817, *

Question Number : 79 Question Id : 4165298864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HA TF A & A e F wHiE
3x—2y+6=0 T 4x + 5y -20=0 T 4
=9 3 = daeg (1, 1) WE, @ Tt
YT T HHEHI @

Options:

4igeno5dg14 122y—26x—1675=0



41652934915, 26%—122y—1675=0

41652934916, 26x+61y+1675=0

122y + 26x +1675=0
41652934317. -

Question Number : 80 Question Id : 4165298865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If the circles x2+y2—16x —20y + 164 =12
and (x—4)2+ (y—7)%=36 intersect at two
distinct points, then :

Options:

416529349018, 1<r<1l

<r<’
41652934919, 0T <1

41652934920, T =11

>
41652934921. da

Question Number : 80 Question Id : 4165298865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Ifg 99 22+ yz 16x — 20y + 164 =12 q91
(x—4)2+ (y—7)2=36, 1 fo=t feigaii W Hred
g

Options:

416529349018, 1<r<1l

<r<’
41652934919, 0 <Tr<1

41652934920, T =11

>
41652934921. ke

Question Number : 81 Question Id : 4165298866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Let A(4,—4) and B(9, 6) be points on the
parabola, y>=4x. Let C be chosen on the
arc AOB of the parabola, where O is the
origin, such that the area of AACB is
maximum. Then, the area (in sq.units) of
AACB, is:

Options:

1
31—
41652934922.

.
30—
41652934923, 2

416529345924, 32

?lé

41652934925.

Question Number : 81 Question Id : 4165298866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

[T A4, —4) T B(9, 6) T Waad i =4x
R foa <1 fag €1 A1 WaeE & =919 AOB
(el O = feig #) W fo o fig C 7w
TFR 941 T fF AACB &1 9% Sfeshan
2, 91 AACB &1 &% (97 513l §) © :

Options:

1
31—
41652934922.

30~

ha

41652934923.

416529345924, 32

?lé

41652934925.

Question Number : 82 Question Id : 4165298867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



A hyperbola has its centre at the origin,
passes through the point (4, 2) and has
transverse axis of length 4 along the x-axis.

Then the eccentricity of the hyperbola is :

Options:

e

416529345926,

2
V3

41652934927,

416529345928, -

3
41652934929, 2

Question Number : 82 Question Id : 4165298867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
uF AfTREeE # Hg g4 fag W T, a0 92
fag (4, 2) ¥ BT a1 T SR THHT ATH™
(transverse) 318, x-31% F few ¥ fomat
wag 4 81 A 39 faREed ® Ik
(eccentricity) €

Options:

e

416529345926,

Gl

41652934927,

416529345928, -

3
41652934929, 2

Question Number : 83 Question Id : 4165298868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If the lines x=ay+b, z=cy+d and
x=a'z+b’, y=c'z+d’" are perpendicular,
then :

Options:

41652934930, ab’ +bc’+1=0



bb' +cc'+1=0

41652934931,
41652934932, 2 tctc'=0
41652934933, < tata'=0

Question Number : 83 Question Id : 4165298868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

FRW@U x=ay+b,z=cy+ddqMx=a'z+b’,
y=c'z+d’ w994 €, o :

Options:

41652934930, ab’+bc'+1=0

41652934931, PP tee'+1=0
41652934932 3 tctc'=0
41652934933, < tata'=0

Question Number : 84 Question Id : 4165298869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The equation of the plane containing the

= ¥ = ,
58 & and perpendicular

to the plane containing the straight lines

straight line

A
3 A4 AT AT e "gW
Options:

= ] i
41652934934, YT~ 22=0
41652934935, X 12y~ 32=

G 2 A —
41652934936, ¥ Y +2=0
41652934937, X T2Yy~42=0

Question Number : 84 Question Id : 4165298869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



% UH gHdd &1 gHrE, fag 9T @

X ! A c
E=%—Eﬁua%ﬁmm@mmﬁa
—— y oz x oy 2
faiEt = =< == 91 — = = = — fop

3 4 2 4 2 3

Options:

41652934934, Yt~ 2=0
41652934035 X t2y—3z=0
41652934936, ¥ Y 12=0
37652984937, > T2y —2=0

Question Number : 85 Question Id : 4165298870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
'_; A A A ' 5 A A A
Let a=i+j+v2k, b=byi+b,j+2k

— M M
and ¢ =5i+ j+ J2 k be three vectors such
y . .\ .A> ' ...? . '...’
that the projection vector of bon a isa .
. B ‘> ”b - - ._, . _'_} .
If 3 4 p isperpendicularto ¢, then |blis
equal to :
Options:
416529234028,

W

416529345933,

41652934940.

32

41652934941.

Question Number : 85 Question Id : 4165298870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



WAl a=i+j+v2k, b=byi+byj+v2k
P ¥ s U " w -

T c=5i+j+2k oA G dfew E fF

‘-y .‘> ---)- i .—~> —

b 1 a Wy IAfew, a 21 afe a+b,
.a- ~ . 5 .\-—’!

[few ¢ FAAIdE, a1 [b| R T :

Options:
416529343935, 6

416529345933, 4

41652934940,

41652934941.

Question Number : 86 Question Id : 4165298871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

A data consists of n observations :
- n

- OV - A Z[J.‘,I 1)2=9n and
1=1

n
Y (x;~1)"=5n, then the standard

....
Il
i

deviation of this data is :

Options:

7

41652934947,
41652034943, VD
41652934944, O

416529345945,

Question Number : 86 Question Id : 4165298871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



HAhS % UH TYE F n T x;, 1y, ...o0, X, S

afe i(xz F1)°=9n ae i(x,- 1)*=5n

1=1 1=1
2, 91 39 sl & 9 fa=eH €
Options:
41652934942, V7

416529345943, “{{g

41652934944, O

2
416529345945,

Question Number : 87 Question Id : 4165298872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Anurn contains 5 red and 2 green balls. A
ball is drawn at random from the urn. If
the drawn ball is green, then a red ball is
added to the urn and if the drawn ball is
red, then a green ball is added to the urn;
the original ball is not returned to the urn.
Now, a second ball is drawn at random
fromit. The probability that the second ball
is red, is :

Options:

41652934946.

41652934947,

26
41652934948, 49

e
O\

416529349849.
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Correct Marks: 4 Wrong Marks: 1



TF AV § 5 o 991 2 &4 e €1 TH FHew
T U A=A UF iig fwred 121 Atz e
TS 2 241 B, O Forw H U o e =rell st
T 991 Afe fAeelt TE i o §, 9 Fow d U
& <ol St | 3T T ¥ Ageed Uh g
g feRrelt 7T, A1 59 TE T8 & ol e i
mﬁmm%:

Options:

41652934946.

41652934947,

o
oy

41652934948 49

B8
O

416529349489.

Question Number : 88 Question Id : 4165298873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

[f0=x< %,then the number of values of x
for which sin x —sin 2x + sin 3x=0, is :
Options:

41652934550,
41652934551, 4

416529345952, -

41852924553, 1

Question Number : 88 Question Id : 4165298873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1

13 - = o .
Wosx< g o x F A TE FH e
o et sin x —sin2x + sin3x=07%, 2 :

Options:



41652934550,

41652924951,

416529345952,

41852924553,

Question Number : 89 Question Id : 4165298874 Question Type

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

If x=sin"!(sin10) and y=cos !(cos10),
then y—x isequal to:

Options:

416529345954,

416529345955,

4165239345956,

416529345957,

10

=]

=

: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1
fg x=sin ~ (sin10) q4qly =cos L(cos10) %,
ar Y —x ST % :

Options:

416529345954,

416529345955,

4165239345956,

416529345957,

10

=]

=
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Correct Marks: 4 WrongMarks: 1
The logical statement
[~(~pvav (par]a(~qar)

is equivalent to :

Options:



41652934958, P VT

41652934959, P D) A~4

41652934960, P A~ VT

41652934961, (" PATA)AT
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Correct Marks: 4 WrongMarks: 1
EERNCEERE]

[~(~pvq)Vv (pAD]A(qAar)
fore 9 Fre Tugea 32
Options:
41652934958, P VT

41652934959, P D) A~4

41652934960, P A~ VT

41652934961, (" PATA)AT



